

-r

$$f(n) = a[n] + a + b[n] + b[a] + b$$

$$(a+b)[n] + a + b[a] + b$$

$20 \rightarrow a_2 - b$

$$\Rightarrow f(n) = b[-b] \leq f(n) = -a[a]$$

$$\Rightarrow \frac{a[a]}{-a[a]} = \boxed{-1} \quad \checkmark$$

-d

$b = \alpha \Rightarrow \text{مربع ناقص}$

$$\Rightarrow f(n) = -2\alpha \rightarrow \frac{a}{f(b)} = \frac{a}{f(0)} = \frac{a}{-2\alpha} = \boxed{-\frac{1}{2}}$$

-g

$$f(x) = 0 \Rightarrow x = 2\alpha \Rightarrow \text{مربع ناقص}$$

$$x = \alpha \Rightarrow \text{مربع ناقص}$$

$$f(n) = \frac{(n-\alpha)(n-2\alpha)}{-(n-\alpha)} = -(n-2\alpha) = \frac{x^2 - 4x + 4}{-(x-2)}$$

$$f(n) = \begin{cases} -(n-2\alpha) & n \neq \alpha \\ 0 & n = \alpha \end{cases} \Rightarrow f(\alpha) = -(\alpha-2\alpha) = 2\alpha$$

$$\Rightarrow m = -4, n = 1 \Rightarrow n - m = 1 - (-4) = \boxed{5}$$

-v

$$x = \alpha \Rightarrow \alpha^+ \Rightarrow \begin{cases} [x] = \alpha \\ [-x] = -\alpha - 1 \end{cases}$$

$$\text{ch } \alpha^+ = f(n) = (1-\alpha)\alpha + (\alpha^2 - 1)(-\alpha - 1)$$

$$\Rightarrow (-\alpha^2 - \alpha + 1)\alpha + (-\alpha^2 + 1)$$

$$\alpha^- \Rightarrow x < \alpha \Rightarrow \begin{cases} [x] = \alpha - 1 \\ [-x] = -\alpha \end{cases}$$

$$\text{ch } \alpha^- = f(n) = (1-\alpha)(\alpha-1) + (\alpha^2 - 1)(-\alpha)$$

$$\alpha^- \Rightarrow (1-\alpha) + \alpha(-\alpha^2 - \alpha + 1)$$

$$\Rightarrow 1 - \alpha^2 = \alpha - 1 \Rightarrow \alpha^2 + \alpha - 2 = 0$$

$$\Rightarrow \alpha = \frac{1}{2} \quad \boxed{-1} \quad \text{مربع ناقص}$$

1v/a

$A_{\text{مربع ناقص}} / C_{\text{مربع ناقص}}$

$$4x^2 + (m+3)x + \frac{m}{4}$$

$$\Rightarrow \frac{m}{4} + 4 \cdot 2m + 3 \sim m + 12 + 2m + 4$$

$$\Rightarrow \sqrt{4x^2 + 4x + 3}$$

$$|2x^2 + 2x + 1| \sim a^2 + 2x + a^2 - 1 \rightarrow a^2 = 1$$

$a = -1$

$$\frac{4 \tan b}{\sqrt{1-1}} = 4 \tan b = 0 \Rightarrow \tan b = 0$$

$b = \{0, \pi\}$

-p

مربع ناقص

$$\Rightarrow x = 1 \rightarrow 1 + a + b = 0$$

$$\Rightarrow x = 1 \rightarrow a - a + b = 0$$

$$\begin{cases} a + b = -1 \\ b - a = -a \end{cases} \Rightarrow a = 2, b = -3$$

$$\Rightarrow \left[\frac{b-2a}{4} \right] = \left[\frac{-3-4}{4} \right] = \boxed{-\frac{7}{4}}$$

-k

$$f(n) = \tan\left(\frac{\pi}{2}\right) = -1$$

$$\text{ch } f(n) = \text{ch } \frac{(x+2)(x-1)}{\alpha(1-n)} = -1$$

$$\Rightarrow -\frac{(1+2)}{\alpha} = -1 \Rightarrow \alpha = 3$$

$$f(a) = \text{ch } f(n) \sim b(a - [-a])$$

$$\alpha^+ \Rightarrow \text{ch } \frac{(x+2)(n-1)}{4(1-n)} \Rightarrow \frac{1}{4} = \log b$$

$$b = \frac{1}{4} \Rightarrow ab = 3 \times \left(-\frac{1}{4}\right) = \boxed{-\frac{3}{4}}$$

$$\lim_{x \rightarrow 0^+} \frac{x^r + |x|}{x^r + a|x|} = \frac{0}{0} \Rightarrow \frac{x^r + x \cdot \lim_{x \rightarrow 0^+} \frac{x+1}{x+a}}{x^r + ax} \quad -10$$

$$\sim \frac{1}{a}$$

$$\lim_{x \rightarrow 0^-} \frac{x^r - x}{x^r - ax} \xrightarrow{\text{L'H}} \frac{x-1}{x-a} = \frac{1}{a} \quad (y)$$

$$P(a) = \frac{ra-1}{ra+r} = \frac{1}{a} \rightarrow ra^r - a = ra + r$$

$$ra^r - ra - r = 0 \xrightarrow{a=r} \frac{r}{r} = 1$$

$$a=r \Rightarrow \lim_{x \rightarrow r} \frac{x^r + x}{x^r + rx} = \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + 1}$$

$$= \frac{\frac{2}{r}}{\frac{r+1}{r}} = \frac{2}{r+1}$$

$$m=r \rightarrow \frac{|a^r + (a-\omega)|}{r|a-1||a+1| + |a-1|} = \frac{|a-1|(r+1)}{|a-1|(r|a+1|+1)} \rightarrow$$

$$\rightarrow \lim_{a \rightarrow \frac{1}{r}} \frac{\omega + \frac{1}{r}}{r \cdot \frac{1}{r} + 1} = \frac{\frac{1}{r}}{2} = \frac{1}{2r} \quad (u)$$

$$m=-1 \rightarrow \frac{|a^r - a|}{-|a-1||a+1| + |a-1|} = \frac{|a-1|(a-1)}{|a-1|(-|a+1|+1)} \quad X$$

$$\lim_{x \rightarrow 0} L_m = (-ra^r + r - a)a + (1 - ra^r)$$

$$= 0 + 1 - r\left(\frac{r}{r}\right)^r = -\frac{1}{r} \quad (y)$$

$$P(a) = b \cdot L\left(\frac{r}{r}\right) = b \cdot L\left(\frac{r}{r}\right) = -b = -\frac{1}{r}$$

$$\Rightarrow b = \frac{1}{r}$$

$$\frac{a}{b} = \frac{r}{r} \times \frac{r}{1} = \boxed{r} \quad \checkmark$$

$$\frac{|(x+1)(x-1) + m(x-1)|}{m(|x-1|)(|x+1|) + |x-1|} \quad -11$$

$$m(|x-1|)(|x+1|) + |x-1| \quad (10)$$

$$\frac{|(x-1)|(|x+1|+m)}{|x-1|(m(|x+1|)+1)} \Rightarrow \frac{|x+1|+m}{m|x+1|+1} \rightarrow x=1$$

$$\frac{r+m}{rm-1} = \frac{m}{m+r} \Rightarrow m^r + \varepsilon m + \varepsilon = r m^r - m$$

$$m^r - \omega m - \varepsilon = 0 \quad ???$$

$$D_f = \mathbb{R} - \{a\} \quad -9$$

$$|ax + a|_{x=0} \xrightarrow{x=a} |a^r + a|_{x=0}$$

$$\Rightarrow a(a+1)_{x=0} \quad \begin{cases} a_{10} = 0 \Rightarrow a_{10} \Rightarrow f(n)_{x=0} \\ a_{1-1} \end{cases}$$

$$|x^r + (m-r)x + a^r|_{x=0} \xrightarrow{x=-1} \frac{x-1}{a+1} \quad (y)$$

$$|-1 + (m-r)(-1) + 1|_{x=0} \rightarrow |r-m|_{x=0} \rightarrow m=r$$

$$\lim_{x \rightarrow a} L_m = \lim_{x \rightarrow 1} \frac{\sqrt{r}|-x-1|}{|x^r+1|} = \frac{\sqrt{r}|x+1|}{|x+1||x^r+1|}$$

$$\boxed{\sqrt{\frac{r}{r}}}$$

۱- تفاضل و باء مخرج را هم صفر کرد

$$\Delta = 0 \rightarrow (m+3)^2 - \left(\frac{m}{r}\right) \times 4 = 0 \rightarrow m^2 + 6m + 9 - 12 = 0 \rightarrow m^2 - 6m + 9 = 0 \rightarrow m = 3$$

$$\lim_{x \rightarrow a} \frac{\sqrt{4m^2 + 4a + \frac{3}{r}}}{|2m^2 + a^2|} = \frac{\sqrt{4(x^2 + x + \frac{1}{r})}}{|2x^2 + a^2|} = \frac{\sqrt{4} \left|x + \frac{1}{r}\right|}{|2x^2 + a^2|}$$

$$2a^2 + a^2 = 0 \rightarrow a^2(2a+1) = 0 \rightarrow \begin{cases} a=0 \rightarrow \frac{\infty}{0} \times \\ a=-\frac{1}{r} \rightarrow \frac{\sqrt{4} \left|x + \frac{1}{r}\right|}{|2x^2 + \frac{1}{r}|} = \frac{\infty}{0} \checkmark \end{cases}$$

$$\lim_{x \rightarrow -\frac{1}{r}} \frac{\sqrt{4} \left|x + \frac{1}{r}\right|}{r \left|2x^2 + \frac{1}{r}\right|} = \frac{\sqrt{4} \left|x + \frac{1}{r}\right|}{r \left|x + \frac{1}{r}\right| \left|2x - \frac{1}{r}x + \frac{1}{r}\right|} = \frac{2\sqrt{4}}{3}$$

$$\frac{2 \tan b}{\sqrt{-(-\frac{1}{r})}} = \frac{2\sqrt{4}}{3} \rightarrow \tan b = \frac{\sqrt{3}}{3} \rightarrow b = \frac{\pi}{6}$$